Mame: Date:

Mr. Spencer

Watermelon
30 pence
each

Bananas
11 pence
each

Pineapple
25 pence
each

20 pence per

You have been asked to buy some fruit from the supermarket.
' Work out how much it would cost you to buy.......

2 bananas = pence
4 apples = pence
3 kiwi fruit = pence
1 pineapple and 2 apples = pence
200 grams of strawberries = pence
4 bananas and 300 grams of cherries = pence
1 wu're;r'melon 1 apple and 2 kiwi fruit = pence

: You have been gwen 50 pznca to buy some fruit.
Wurk out how much the fruit will cost, and how much change you should get back.

2 kiwi fruit = _______ pence. Change from 50 pence = pence
1 pineapple and 1 apple = pence. Change from 50 pence = pence

1 apple, 1 banana and 1 kiwi fruit = pence. Change from 50 pence = pence

300 grams of cherries and 200 grams of strawberries= ___ pence. Change from S0pence=__ pence,
1 apple, 1 banana and 1 pineapple= ________ pence. Change from 50 pence= _______pence
100 grams of strawberries and ! apple pence. Change from 50 pence= ______ pence
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